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[ 58 (F824):

1. WmPe:e {7k & 1% (photosynthesis) &% — Pk & & (light reactions) ¢ &2 *

A i+ %k (Calvin cycle)?

(A) COz and glucose
(B) H:0 and O:

(C) ATP and NADPH
(D) 0:and NADPH

2. At oK 1 A

(A) Efimre p 7 00 e PRt (7 AR 2 B2
(B) Jtrimse B 7 Lk pEiE 7 4R R

(O DNABZ® > mitigd & ks F44 i
(D) B, C
3. i (liver cell) £ & k#w® (lens cell) # kb > 7 lfcut o L F2?
(A) #F&E7 kAT (genes)
(B) © i 3kH 7 Ik 7]
C) wmiZAFEFER* 2 Feh2is+ (codons)
(D) # 5 * I hg d 48 (chromosomes)
4. T A gcat e R
(A p+ 7 AAFM > LA Al wep4f Yl
(B) M A& » mFmre il > RivieFA Y (lytic cycle)
(C) 5 &4 (retrovirus) £- 8 DNA 4
(D) A, C
b. T At P H I Fx?
(A) #73 B4 4 2L DNA s &
(B) % 234 (prion) - f62 % @FHehgs 7
(C) & &3y ¥ g FAAp bl end & 3o F#E i S prion 775t A A4 R iR
(D) B, C
6. &% B S R A A D S T AR 7

() &- 3
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FE 25 p% %27

(B) 2 % &2 a2
(C) ¥ & jzt
(D) ra by &
7. DNA4F ®(DNA replication)p » & 7l it i f & F?
(A) 3 *— 5 & &45 s DNA
(B) # Z & $i-5< DNA (template DNA)
(C) Z&pa=% % RNA polymerase
(D) re kg2t
8. 7 $:4 2 (mitosis) £ s A (meiosis) # b few® ™ 7| iﬁ‘ﬁﬂk‘ﬁi’?
(A) vz & % (cell division)=X #&% F
(B) % ¢ %845 @ (chromosome replication)=X #c% fr
(C) $ 5~ MASHELI Wwe (haploid cells) » Flesr A A4 2% 4 Wwe  (diploid
cells)
(D) A, B

9. f A7 ¥ (negative gene regulation)® - inducible operon(:f % # 48 %)
(M) ¥R 72 24
(B) ## 4 (inducer) s ™ » A F¥ w4 &
(C) lac operon & >% 573 4t
(D) ra by &
10. ppreng mESTP Y B EH § 7 698 &b B REF /R (systolic blood pressure)
3t 140 @ » 4+3% B (diastolic blood pressure)® >t 90 0 -] PP en? B 57w £ T AR EFA50?
(A) bacterial infection
(B) cancer
(C) hypotension
(D) hypertension

(II) k42 6P E L AIs12Z PHEZAE % (80%)
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